
Unit 5 Objective 4 Remediation 

Solving Linear Inequalities 

Remember that you switch the inequality sign if you are… 

 Multiplying by a negative number 

 Dividing by a negative number 

 Switching the left and right sides of an inequality 

Example One 

Solve 𝟑𝟎 ≥ 𝟐𝒙 + 𝟏𝟎            30 ≥ 2𝑥 + 10      

 Subtract 10 from both sides    −10          − 10 

          20 ≥ 2𝑥 

 Divide both sides by 2       
20

2
≥

2𝑥
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          10 ≥ 𝑥 

 Switch the left and right sides        𝒙 ≤ 𝟏𝟎 

 

Example Two 

Solve −𝟐(𝟐𝒙 − 𝟑) < 𝟓            −2(2𝑥 − 3) < 5      

 Distribute −2                  −2𝑥 + 6 < 5 

 Subtract 6 from both sides                     −6  − 6  

                       −2𝑥 < −1 

 Divide both sides by −2         
−2𝑥
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 Switch the inequality sign!                      𝒙 >
𝟏

𝟐
 

 

Example Three 

Solve 𝟐𝒙 − 𝟏𝟑 ≤ −𝟑𝒙 + 𝟐        2𝑥 − 13 ≤ −3𝑥 + 2          

 Add 3𝑥 to both sides            +3𝑥        +3𝑥      

       5𝑥 − 13 ≤ 2                      

 Add 13 to both sides          +13  +13 

                5𝑥 ≤ 15 

 Divide both sides by 5             
5𝑥

5
≤

15

5
 

                            𝒙 ≤ 𝟑 

 

 



Solve the following inequalities. 

1. 25 < 2𝑥 + 5 2. −𝑥 − 7 ≥ −9 

 

 

 

3. 14𝑥 + 2 < −26 4. −4 +
1

2
𝑥 ≥ −12 

 

 

 

5. 10 > 2(𝑥 − 1) 6. −(2𝑥 − 6) ≥ −14 

 

 

 

7. 
1

6
(12𝑥 + 6) > 7 8. 4 ≤ −

3

8
(16𝑥 − 8) 

 

 

 

9. 5 − 𝑥 > 9 + 𝑥 10. −4 + 5𝑥 ≥ 3 − 𝑥 

 

 

 

11. 4𝑥 + 1 < 2𝑥 + 5 12. 
1

2
𝑥 ≤ 2 + 𝑥 

 

 


